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Data Analysis Using NumPy and Pandas 1

Joonhwan Lee
human-computer interaction + design lab.
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Using NumPy and Pandas in Data Analysis

~3
)
o
Qo
=




~3
)
o
Qo
=

Last Week
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import unicodecsv
def read csv(filename):
with open(filename, 'rb') as f:
reader = unicodecsv.DictReader(f)
return list(reader)

daily_engagement =
read_csv("daily_engagement.csv")
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def get_unique_students(data):
unique_students = set()
for d 1n data:
unique_students.add(d['acct'])
return unique_students

unique_engagement_students =
get_unique_students(daily_engagement)
len(unique_engagement_students)
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Using NumPy and Pandas

+ NumPy® Pandas= x4 % H|O|E EM= 2ot 7

2 7 E XN|ZsH=Ct. (=> compared to R or Matlab)

import pandas as pd
daily_engagement =

pd.read _csv('daily_engagement.csv')
len(daily_engagement['acct'].unique())
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Using NumPy and Pandas

+ NumPy= H|O|E Q] Q10| === =Lt (K| A2t
oAl &2TH=E LWE)

import numpy as np
total minutes =
total_minutes_by account.values()
print('Mean:"
np.mean(list(total_minutes)))
print('Standard deviation:'
np.std(list(total minutes)))
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NumPy

+ Numpy= Numerical Python2| 2FAtZ O S0l A =

ASO| LfO[HOf| M 2HetA Al th= b7 | 2l X[tV ]S
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NumPy

+ X0

+ StLtQ| arrayOll= 22 type2| CI|O|E{ 2t &S £~ ALY

+ array can holds string, int, float64, boolean, etc.

+ array2l & A8 = = &4 XA HAE E2

StCt,
+ std(), mean(), log(), sin(), etc.
+ CIXIAQ| arrayE 2= 4= QUL

+ 2D Array, 3D Array, etc.
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Questions?
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